Solutions sheet No. 98

Sine Ratio
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Find the value of the pronumerals in each of the following, correct to 1 dec. pl. where necessary;





30





41°





e





25 





47°





d





12 





32°





a





80





38°





b





18 





36°





c





8.2





64°





h





3.2 





65°





j





250





38°





f





11 





21°





i





4.5 





26°





g





225 





56°





k





45





37°





m





90





43°





l





p





74°





7.25





65





43°





n





16.7 





72°





q





11.5 





53°





u





26





68°





r





300





58°





t





50





s





66°








